Monday, January 25, 2016
[image: Picture]
Tuesday, January 26, 2016
[image: Picture]
Wednesday, January 27, 2016
[image: C:\Users\amy.dahl\Downloads\IMG_4087.JPG]
Thursday, January 28, 2016
[image: C:\Users\amy.dahl\Downloads\IMG_4088.JPG]

Friday, January 29, 2016
[image: C:\Users\amy.dahl\Downloads\IMG_4089.JPG]

image1.png
). REVIEW Given y = 2.24x + 16.45, which statement best.
describes the effect of moving the graph down two units?

F The y-intercept increases.
G The x-intercept remains the same.
H The x-intercept increases.

J The y-intercept remains the same.
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. Which of the following is the domain of g(x) = =7
F (=22,0)U(0,16) U (16, %9)

G (—0,0] U [16, )

H (=00, ~1)U(-1,00)
J (—00,~4) U (4,49 U (4, )
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81. Which of the following
- statements could be used ¢
to describe the end behavior
of f(x)?
F Xﬂrpr(x) = —oo and 0
G lim f(x)=—ooand y=fl
Yooy
H XEerf(x) = 00 and xll’l’&f(x) = —00
J Jim_f(x)= coand lim f(x) = o0

X——00
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2x—y+3z2=-5
5x — 8y + 10z =20

2x — 3y —-bz =27

Skills Review for Standardized Tests

80. SAT/ACT At Lincoln County High School, 36 students
are taking either calculus or physics or both, and 10
students are taking both calculus and physics. If there
are 31 students in the calculus class, how many
students are there in the physics class?
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81. Which of the following ,‘ 1 y f
- statements could be used
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97. REVIEW A window is in the shape of an equilateral
triangle. Each side of the triangle is 8 feet long. The
window is divided in half by a support from one
vertex to the midpoint of the side of the triangle
opposite the vertex. Approximately how long is the

support?
Eabi7 it
G 69ft
H . 11.3 1t
J 139ft
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